DR T S
8. Cntically assess the Dramaturgical approach from the
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mainstream sociological theories.
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= UM " fege @ Tewa gfewm @ M.A. (CBCS) IIIrd Semester Examination
SIS HEaih witan | 9043
SOCIOLOGY
(Theoretical Perspective in Sociology-I}
(DSC)
Paper : 50C-C-30
T . | Regular : 80
Time : 3 Hours] [Maximum Marks : {Fﬁmm 100

Note - Attempt four questions in all, selecting ome question
from each Unit. All guestions carry egual marks.

eI TR U U UV W 9 w0 R, e Wy
% T 2ifan oft ol % o e £
Uit

(gaTE-1)

I. How social theory and sociological theones are different ?
Retlect on them with some examples.

amfew fagra s garanredta fagr g wen fag § 7
e W % me 3 9 faen it

C-598 (41 9043 C-598 (1) 9043 Tumn Over




2. What are the social roots of sociological theories and why

and how was its explanations associsted with Indusinal
soviety 7

AT THg @1 s W e § o gew e
sirifirs T 8w o ha 9t ?

Unit-11

(gET3-11)

. What is neo-functionalism and how is it different from

functionalism und dis-functionalism 7

Fa-wwrEE 7 T @ 9% vweaR SR s-vwreee 8 feg
v fim & 7

. What are the contnbutions of Parsons, Merton and
Alexander in constructing grand theories in Sociology ?

waree i weg fagr & fmim o weg, #49 o e
I OAEE R 7

C-598 (2 9043

C-598 (3)

Unit-111
(FaFTS-110)

How do you infer the major roots, causes and consequences
of conflict theory ?

mﬁﬂﬁfﬂmﬁmaﬁ.m ¥ frmsi =1 SEH
#8 wm & 7

Does conflict theory hold social function 7 Elaborate it
sociologically with examples.

w1 wwd fagr gmias @ w0 b 7 T WA
gfr & = wfem w= wita

Unit=IV

(gFTE-1V)

What are the theoretical premuses of symbolic interaction 7
AT sadEa ® s s w8 7

9043  Turn Owvar
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M.A. (CBCS) IIIrd Semester Examination
9044
SOCIOLOGY
(Sociology of Development)
(DSC)

Paper : S0C-C-302
Regular : R0
.' Time : 3 Hours] [Muimumh'[arh.{rﬁ“u - 160

Note :— Attempt four geustions in all, selecting one question
from each Umt. All questions carry equal marks.
TEE THET W UF WA W W w0 R, |H W
u & I difaw it wre § 5w owm §
Unit-1

(wr-I)

m 1. Define Development. Explain the changing conception of
{ Development.

feera w5t ofiwifem wifeg) fawm w5 szed SEgEm w5
e wiftan | 200[25]

C-599 (1) 9044 Tum Over



2. Discuss the Decentralized models of development. Unit=1V

fawm & fad=ign ofzdl &1 == =it 20{25) (FTE-1V)
Unit-TI 7. Explain the industrial development in India.
(ETE-11) A # sfre fawm w1 ol wifeg 20[25]
3. Discuss the Mixed Economic perspective on development. B. Wrie a detailed note on Socio-cultural Sustainability,
fowre w1 fafsm anfiges oftisy o waf wifom) 20025 wifoe-wiegies fomm w uw fawp feamit fafia
4. Explain the capitalist perspective on Development. 20{25]
frerw & a4 o s W e W 2005) '
Unit-IT1
(gTE-110)

5. Discuss the impact of green revolution on rural
development. |
e fawm woefe wifs @ v W s #ifew 20(025)
6. Discuss the role of NGOs in development in rural society.
i war # faww § - WA s oyfe oot
Hifa | 20[25]

C-599 (2) 9044 C-599 (3) 9044



Unit-1V
(¥=TE-1V)
4. Dicuss gender gaps through exploring the demographic
profiles.
AR A 1 I T2 g o wmme w faEe
T |
Or

(37erEm)

What is Domestic Violence Act 7 Discuss varous jssues
of this Act.

ury fém sfufem = & 7 e fatve s w0 oW
T |

C—-600 (4) 9045

] |

Total No. of Questions : 4] [Total No. of Printed Pages : 4
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M.A. (CBCS) IIIrd Semester Examination
9045
SOCIOLOGY
{Gender and Society)
(sC)

Paper : SOC-C-303

Regular : 80

Time : 3 Hours] [Maxinmm Marks :
T {P‘riuln : 100

Note - Attempt four questions in all, selecting one guestion
from each Unit. All questions carry egqual marks.

YEE TEE W OUF T W 9 I R, ®E =N
% I e wdt ued & Hw owmm §
Unii-I

(315-D)

I, Discuss changing gender roles in Modern Indian Society.
A wd e A W g et i w1 fade
iy |

C—-600 (1) 9045 Tum Over



Or
(rer=m)

Discuss how vanious structures of society are perpetuating
the patriarchy at the levels of Ideology.
fem we fafm wow =1 goend feamam § "R oW
foqem =1 v e & 7 faE=w witaw)

Unit-11

(zTE-11)

. Examine how post-modernist explanation of gender
incqualities 15 significantly different than the carlier
explanation.
A e # Iy & e e o A
gd e A fum & 7 wilym wife)

Or

(3T
What is basis of gender inequality at Socialist Philosophy
level 7 How does it different from Radical Explanation ?

T AT W GEEEE SR e = & 7 ow e
THH ImER weEm 8 e 7

C-600 (2} 9045

Unit-IT1

(3ers-1Im)

3. Women's development in India has remained a slow

process with a quick shift in last two decades. Explain
und cite examples.

v | wfgensiil =1 fawm v i uiEm & ey H, fa g
foed &1 g9 o W% wfEde e wET ¥ wmwm & WM
T HifE |

O

(3rerEm)

Do you think that economic independence and political
participation of women have led W improvement in
Women's Status in India 7 Discuss.

T A9 wAa £ fF afeensd w1 i waEm e oeataE
wpiert 8 v 8§ mfeensd wt el 8 qum fem & 7
fademn =ifam)

C-600 (a) 9045 Tum Cver
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M.A. (CBCS) IIIrd Semester Examination

9046

SOCIOLOGY
{Social Statistics and Computer Analysis)

(AEC)
Paper : SOC-C-304

Regular : 80
Time : 3 Hours Maximum Marks :
} [ {Frhlte : 100
Note :—  Attempt four questions in all, selecting one question

from each Unit. All questions carry egual marks.
T THT B U WY F W99 T4 50, |/E W 9
# IW Afam| @t o & 3 wwE §

Unit-1

(vmé-1)

|. What do you understand by mean deviation and quartile
deviation 7 Explain the difference with the help of an
example.

weg e o wqds e A s s o B 7 o
W F IF HaT R wifEm |

C—-601 (1) 9046 Turm Over



2. Given below is the distribution of weights of students I

a class :
Class Interval (kg) No. of Students 3
45—48 4
4851 8
al—54 12
34—57 13
57—60 17
60—63 0
63—66 6
60—69 2

What is the modal height of

C-601 (2)

the clasg ?

IR

mmﬁmmﬁrﬂﬁmﬂmt:

wl st fa ferenfirdl =t v
4548 4
48—51 8
51—54 12
MH—57 13
¥1—60 17
6063 *10
63—66 &
69 2

mmﬁmﬁmmﬁmaﬂm|

X,

and Science test -

C-601

Unit-11
(FTE-11)

Ciiven below are the marks obtained by students in Maths

{3) 9046  Turn Over

e




1
2 53
3 82
4 63
5 75
6 47
7 50
8 72

“

k]
71
B3
63
)
60

13

Calculate the Spearman’s rank correlation betwoen the

marks obtained in the wo subjects.

= FY % famit gm nfm 3 fasm w5t often & e

S# w1 faam f= 2.

C-601 %)

1

23

32

63

5

47

50

T2

71

83

65

77

6l

13

¥ frm % fom fomds TS wsem s = o

wifay |

4. Explan the concept of regression analysis. How will you

interpret the value R® = 0.56 for a given regression 7

HeEnsTe fayerem @ wm owewd & 7 oTe owew R @ our
056 # @9 5 qagE § 7

C-601

(5)

9046 Tum Over




B What 18 MS-Excel 7 How does it help in storage and
analysis of data ?
wEEHR TFE P ¥ 7 3@ F wvenw | favemm § 3

HH HEE wIm & 7

C-601 (7) 9046 4
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M.A. (CBCS) IlIrd Semester Examination

9047

SOCIOLOGY
(Rural Sociology)

(DSE-T)
Paper : 50C-E-305

Time : 3 Hours) [Muimulirlu:{ ; V89
Private : 100

Note — Anempt four questions in all, selecting one question
from each Unit. All questions carry equal marks.
YR FEE OB UH WA W WIS B, WE 9N
yyE % o dffen ot gyl € ow muE §
Unit-1

(gamé-D)

|. Discuss in detail the rural social Structure of family and
their changing dimensions.
afEr #t At amElE g o T s S W
foemm | W= i

C—-602 (1) 9047 Tum Over




R

. Define Rural Sociology. Write down the struciure of
Peasant and Agranan Society.
T w5 afonfea wifae ) Fow v wew wa
w Hra fafan

Unit-11

(FTE-10)

. Define Peasant, Discuss in detail the mode of Production

and Agrarian Relations in Tradiional India,

fram = wftwfes #ife ) oaofeer v § 3o & ol

s wf gad w faem & Wl it

. Discuss the Major Agrarian and Peasant Movement of

India.

WA ® wqE wfw v fewe siEem w5 wel wife
Unit-1T1

(F=rg-111)

. Elaborate the Land Reforms of India in detail.

wia % fa qurl ® feem ® oA st

. Highlight features of Mahatma Gundhi National Rural
Employment Guarantee Act (MGNREGA).

e W T e e T sfufem (s w9
fagmmsl = wwm Ewfem

C—-602 (2) 9047

Unit-1V

(yTé-1V)

7. Define Urbanization, Write down the impact of

Industrualization and Urbamzation on Agriculiure.
wedterrm ) afifie sif ) sieitere o weien =
Ff gt g ferfiang

. Define de-peasantisation. Discuss the reason behind the

Farmer's Suwcide in India
- farftsrn W) 9ftowifee Fifeoy s § feoe =1
araren % U ® wm wowwi Wit

C-602 [(3) 9047
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(yTE-|
» (2064)
7. How does Urban Governance take place in India 7 What M.A. {cucs} I1IIrd Semester Examination
are the various urban policies and programmes in India 7 9048
via § wed wea w8 g ¥ 7 v F fafae wwd dfifd
W vy b SOCIOLOGY
(Urban Sociology)
Or (DSE-IT
(3t97m) Paper : SOC-E-306
8. Dhscuss Urban Planning in India. Discuss in detall the .
_ Time : 3 Hours) Mtk T 1 8
different factors affecting urban planning in India, Private : 100
v H vl friem w sl wifan) w6 wed i Nofe = Attempt four questions in all, selecting one question

TEF T | U WA W WG WO [0, w9
% I A it ueE % s owam §)
Unit-1

(-1

== |. Define Urban Sociclogy. DMscuss in detail nature and
scope of Urban Sociology.

el wgrEees w0 gt st wed s s
il A wrii w faem & wel st

C-603 (4) 9048 C-603 (1) 9048 Turn Over




. Discuss Emerging issues in Urban Arm ?'ﬂ‘l-‘!"".! bl

- Discuss in detail the urbanisation theory as given by Mux

]

r

(3veram) SR L
LU

four of them in detail,

T A A e qE o Wit s @ e i

Wt # faem & fefew
Unit=I1

(331D

Weber, el |
fam AW g fou m el fagim w1 faem @ owwl
witam |
o
( sveram)

. Discuss in detail Park and Burgess's theory of Urbanisation

with special reference to the concept of urbanisation.

TEGHT ®1 sy F favm wed § o oy @i %
wetw fagin ®1 fawm @ wel wifa

C-603 (2) 9048

Unit-IT1
(gar-Im)

5. Discuss the different variables (o understand Urban social

structure in India focussing on Caste, Class, Gender,
Education and Occupation in detail,

Wi H FRd weteE weE w0 Aaga % feo onfa, e,
fein, finen o =prom o $fm w0 g fafis =d
w far ® == witan "

Or

(arerm

. What are the various Urban problems in India with

a special focus on Housing, Slums and Urban

Poverty 7

s, wiE afedl s e i W fadm wm 2 oR
i yia ¥ fafes sl wwed = £ 7

C-603 (8) 9048 Tum Cver




